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I

1' Mr' Ranil wickerm Singhe from the united Nationar pa.ty of Sri Lanka occupied the
position of :

(l) president 
(2) prime Minisrer

(3) Finance Minister (4) AII of the above

2' Mr' Raghuvendra Tanwar was awarded padma Shri in 2022 inthc lield of :

(l) Trade & Industry . (2) Sports

(3) Science & Engineering (4) Literaturc & Education

3' wHO Global centre for Traditional Medicinc (wl{oGCTM) will bc establishcd in
India ?

r

(l) Dehradoon

(3) Gangtok

(l) Daughter

(3) Mother

, (2) Jamna_ear

(4) Shiilong

(2) 7 .8 billion

(4) 8.8 billion

4' The US census Bureau has projected the worrd popuration to bc :

(l) 7.0 biflion

(3) 8.0 bitlion

5' Pointing to a girl, vrjay said, "This girl is daughter of only child of my father,,. what is
the relation of Vijay,s wife to that girl ?

(2) Sister

(4) Morhcr-in-law

PG-EE-20 22 t (F or ensic Sci. )_(SE T_YXA)
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6. Find the word which is different frorn othcrs :

(l) Cap (2) Veil (3) Turban (4) FIat

7. The difference between the times taken by two cars to travel a distance of 350 krn is

2 hr and 20 minutes. If the difference between thcir specd is 5 kmph, find slowcr spcccl

in kmph :

(l) 3s (2) 20 (3) 2s (4) 30

8. A train covers a distance of 12 km in l0 rninutes. II-, it takes 6 seconds to pass a l,lag

post, then the length of train is :

(l) 120 m (2) 150 m (3) 200 m @) 250 m

9. A hall is l5 m long and 12 m wide. If the sum of the areas of f'loor and ceiling is equal

to the sum of the areas of four walls. the volume of thc hail is :

(t) 720 (2) e00 (3) t20o (4) 1800

,/

t/ esum of money istodistrilutedamgngA, B, C andD intheproportion of 5 : 2:4:3.
If C gets Rs. 1,000 more than D, what is B's share ?

(l) Rs. 500 (2) Its. 1,s00

(3) Rs. 2,000 (4) None of the above

/t/ n nvo digit numb'er is such that the product of the digit is 8. When 18 is added to the

number, then the digits are reversed. The number is :

(1) 18 (2) 24 (t.) 42 (4) 81

PG-EE-2O22 I (F orensic Sci.)-(SET-Yy(A)
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12. If A: X% of Y and B :YYoof X, then which of the following is true ?

(1) A is greater than B

(2) Relationship between A and B can not bc determined

(3) If X is smaller than Y, then A is greater than B

(4) None of the above

13. A man travelled a distance of 61 km in nine hours. I{e travelled partly on foot @ 4

km/hr and partly on horse @ 9 kmph. T'he distance covered on foot is :

(l) 14 km (2) 15 km (3) 16 km (4) 17 krn

14. What will be in place of question mark (?) in the following series ?

BZA, DYC, FXB, HWG, ?

(l) vJr (2) JWU (3) JVI (4) vIJ

15. Sh. Jayant Kumar Magan Lal Vyas for his contribution in thc field of Scicncc &

Engineering was awarded in the year 2022 :

(1) Padma Bhushan

(2) Padma Shri

(3) Padma Vibhushan

(4) None of the above

PG-EE-20 22 I (F orensic Sci.)-(SET-YXA) P. T. O.
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16. Forensic Science is defined as :

(l) Application of scientific principles in the adrninistration ofjustice

(2) Application of scientific techniques in the adrninistration ofjustice

(3) Both (l) and (2)

(4) None of the above

17. 'lhe origin ol'word forensic is from :

(l) French

(3) Latin

18. The finger print patterns are categorized as :

(1) Arch

(3) Whorl

(2) German

(4) None of the above

(2) Loop

(4) All of the above

19. [n cyber forensic, the digital evidence exists in the form of :

(l) Physical (2) Binary

(3) Both (1) and (2) (4) None of the above

2(. Sodium pentothal is a drug administered in lie detection test and that is named as :

(l) Polygraph test

(3) Narco test

PG-EE-20 22 I (F or ensic Sci.)-(SET-YXA)

(2) Layered Voice Analysis test

(4) SDS test
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,2d Primary crime scene is defined :

(l) Where actual criminal activity occurred

(2) Where bodY of victim was found

(3) Where weapon of offence was recovered

(4) All of the above

22. In scanning electron microscope, the'electron interact with atoms in the sample and

provide information about :

(1) The surface toPograPhY

(2) ComPosition of samPle

(3) Both (1) & (2)

(4) None of the above

2g. Diatom test is used in cases of :

(1) Firearm injuries

(3) Drowning cases

24. I'he ABO blood-groups were discovered by :

(1) Budowle (2) Landsteiner

(3) Mendel (4) None of the above

PG-EE-2022/(Forensic Sci.)-(SET-Yy(A) P' T' O'
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is. An incised injury is caused with the help of :

(1) Knite

(3) Steel rod

26. Ganja is derived from the plant named :

(1) Solanum Nigrum

(3) Ulex EuroPeaus

(2) Wooden stick

(4) Brick

(2)

(4)

Cannabis Sativa

None of the above

27. Glass on forensic evidence can be best analysed by :

( I ) Density gradient method

(2) Magnifying lcns

(3) Inductively Coupled Plasma Optical Emission Spectrometry (ICP-OE,S)

(4) All of the above

28. Osteornetry is defined as :

(1) Study and measurement of human skeleton

(2) Study and measurcment of animal skeleton

(3) Both (1) & (2)

(4) None of the above

PG-EE-20 22 t (F orensic Sci.)-(SET-Yy(A)
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29. A Single Barrel Break Loading (sBBt,) firearm is where ?

(1) The user loads ammunition via the rear end of its barrel

(2) The user loads ammunition via the front end oI its barrel

(3) Both (l) & (2)

r-l r None of the above

6 The father of the science of questioned document examination is :

(1) Dr. Alee JaffreY (2) A S Curry

(4) C H Goddard(3) A S Osborn

$^/ Atomis the smallest indivisible particle of matter was proposed in 1808 by :

(1) J J Thornson (2) John Dalton

(3) Rutherford (4) Bohr

92. The rnass of neutron is of the order of :

(1) to-24 kg Q) 10-23 kg

(3) lo-27 kg (4) lo-2'kg

33. The spectrum produced from an element is :

(1) Absorption spectrum (2) Atomic spectrum

(3) Line spectrum (4) All of the above

PG-EE-20 22t(Forensic Sci.)-(SET-YXA) P' T' o'
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34. The angular momentum of an electron is zero. tn which orbital it may be present ?

(l) 2p (2) 4t (3) 2s (4) 2f

35. Ionisation potential for isotopes of an element is :

(1) Different (2) Affected by atomic weight

(3) Same (4) Affected by neutrons

36. The first element of a group in many ways different from the other heavier members of

the group, which is due to ?

(l) Unavailability of d orbital

(2) Small size

(3) High electronegative and high ionization potential

(4) All of the above

37. Which oxide is amphoteric in nature ?

(l) Na2O (2) ZnO (3) BaO (4) Coo

38. Nuclear fission was first discovered by :

(1) Soddy (2) Fajan (3) Russel (4) Otto Hahn

39. Radioactive disintegration rate is affected by :

(l) Pressure (2) Electric field

(3) Temperature (4) None of the above

PG-EE-20221 (F orensic Sci.)-(SET-Yy(A)
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YO. The shapc of molecule is distorted by :

( 1) Inert Pair of electrons

(2) Ion pair of electron

(3) Bond Pair of electron

(4) Both bond pair and inert pair of electrons

,/-,/
,--41. Buffer is a solution :
L

( I ) Which maintains its pH constent up on addition of small amount of acid or base

(2) Mixture of wPak acid

(3) Mixture of weak basc

(4) Both (2) and (3)

42. Which one of the following is weak Lewis base ?

(1) H* Q) OH- (3) HCo; - (4) Cr
':

43. The forces acting between nobel gas atoms are :

(1)Magneticforces(2)Iondipoleforces

(3) Vander Waal's forces (4) London forces

44. 'Ihe gas which is filled in tungsten lamp is :

(r) He (2) Hz Q) Ar (D oz

PG-EE-2022/(Forensic Sci.)-(SET-Yy(A) P. T. O.
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45. The gas responsible for Bhopal gas tragedy was :

(1) Acid rain

(2) Methyl isocyanate gas

(3) Green house effcct

(4) None of the above

46. The gas which has strong affrnity towards haernoglobin and produces toxis cftbot is :

(r) NO2 Q) CO

(4) None of the above

47. The most acidic among the following is :

(1) p-nitrophenol (2) p-chlorophenol

(3) o-cresol (4) P-cresol

48. A compound in which hydroxyl goup is attached directly to the aromatio ring was

discovered by :

(1) Runge (2) Rutherford

(3) Perkin (4) None of the above

49. When DDT passes into food chain, it concentration :

(1) increases (2) decreases

(3) remains same (4) All of the above

PG-EE-2022/(Forensic Sci.)-(SET-Yy(A)
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,'
2d Which of the following compound has the most de-shielding protons ?

L1

(1) CHeI

(3) CH 3Ct

(2) CH o

(4) CH tBr

,/'
* the solvent used in I\fMR spectroscopy is :

(2) CCl4(I ) TMS

(3) CDh (4) None of the abovc

52. The value of electrode potential does not get affected by :

(1) nature of cell (2) temperature

(3) nature of electrode (4) concentration of solution

53. Raman spectra is observed in :

(l) Visible region (2) IR region

(3) UV region (4) Microwave region

54. The molecule which is IR inactive but Raman active is :

(l) So, (2) N2 Q) HCI (4) Protein

55. Pyrene is :

(l) Carbonyl chloride (2) Carbon tetrachloride

(3) Chloroform

PG-E E -20 22 I (F or ensic Sci.)-(SET-Yy(A)
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56. Plant cell wall is mainly composed of :

(l) Starch

(3) Protein

(l) Pectin

(3) Silica

(2) Ccllulose

(a) Lipid

(2) Joshua Ryan

(4) McCarthy

(2) Mucilage

(4) Cellulose

A

57. Chromosomes play important role in heredity, 
it 

was suggested in 1900 by :

(1) Messelson

(3) Carl Correns

58. The main constituent of cell wall of diatom is :

59. Which fungus is responsible for production of citric acid ?

(l) Penicillium

(2) Aspergillus niger

(3) Fusarium moniliformae

(4) Puccinia graminis

-86. Whocoined the term taxonomy ?

(l) de Candolle (2) Bentham

(3) Braun

PG-EE-2022/(Forensic Sci.)-(SET-Yy(A)
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Al/ineliving element of Xylem is known as :

(l) Vessels (2) Xylem fiber

(3) Tracheids (4) Xylem parenchyma

62. The example of leafu Bryophyre is :

(l) Riccia (2) Anthroceros

(3) Porella (4) Marchantia

63. The plant saffron is obtained from :

(t) Sepals (2) perals

(3) Stamens (4) Stigma & sryle rops

64' Mendel published his findings on the principle of inheritance in the year :

(l) l8s7 Q) t7s3 (3) 1866 G) leoo

65. Which scientist first discoverd bacteria ?

(l) Louis pasteur (2) Robert Koch

(3) Av Leeuwenhoek (4) Roberr Hooke

66' The following is the hotspot of biodiversity in India :

(l) Amarkantak (2) The Western Ghat

(3) Panchmarhi (a) The Eastem Ghat

Pc-EE-2022t(Forensic Sci.)_(SET_y)(A) p. T. O.
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67. The name'Molecular Scissor' is given to the enryme :

(2) LiPase

(4) I-igase

68. Fruit in which pericarp is fused with the seed coat is known as :

(1) BerrY

(3) HerPeridium

69.TheformationofgametophytedirectlyfromsporophytetissuewithoutSporeformation

(1) I{Ydrogenase

(3) Endonuclease

is called :

(1) APosPory

(3) Heterospory

(1) Ip

(3) IsE

PG-EE-2022/(Forensic 
Sci')-(SET-Y)/(A)

(2) Engler and Prantl

(4) Flooker

(2) l*G

(4) None of the above

(2) CaryoPsis

(4) CaPsule

(2) APogamY

(4) PorogamY

;{*no gave phylogenetic classification of piant ?

(1) Linnaeus

(3) Bentham

yWhich of the following immunoglobulins can paSS through the placental banier ?
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72. Hydra animal belongs to phylum :

(1) tlelminthes

(3) Porifera

(1) Amphibians

(3) Birds

(2) Coelentrata

(4) None of the above

(2) Mammals

(4) Insccts

73. A ly'sosome present in a cell has the function of :

(l) tntracellular digestion

(2) Role in metamorphosis

(3) Role in fertilisation

(4) All of the above

74' Phagocytosis is a term used for cellular process for ingesting and eliminating particlcs

including:

(l) Microorganisms

(2) Apoptotic cells

(3) Both (t) & (2)

(4) None of the above

75. Lampbrush chromosomes are not found in :

PG-EE-20221(Forensic Sci.)-(SET-yy(A) r,. T. o.
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76. Genetic is defined as the scientific study of :

(1) Genes

(2) Genetic variation

(3) HereditY in organisms

(4) All of the above

77. Apiculture is the name for :

(1) Bee rearing

(3) Both (1) & (2)

78. What is true about male mosquito ?

(1) Presence of two mandibles

(2) Presence of four mandibles

(3) Absence of mandibles

(4) None of the above

(2) Earthworm rearing

(4) None of the above

79. Prostoiyclins are synthesized in :

(l) Endothelial cells (2) Platelets

(3) RBC (4) BasoPhils

PG-EE-2022/(Forensic Sci')-(SET-Yy(A)
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agrzfrn,,n blood flows from the arteries into capilraries, Bp ?

(l) Decrease (2) Increase

(3) Both (l) and (2) (4) None of the above

8\r,4oikilothermal term is associated with :

(l) Warm blooded (2) Exrernal Ferrilisation

(3) Tadpole Larva (4) cord brooded

82. The yellow colour of urine is due to :

rl r Uric acid (2) Bite juice

(3) Urea (4) Urochrome

8i|. Fleterocrine is a composite gland and acts as :

(l) Exocrine (2) Endocrine

(3) Both (l) & (2) (4) None of the above

84' The cells which are responsible for colour vision in vertcbrates are :

(l) Cone cells (2) Red cells

(3) Bipolar cells (4) All of the abovc

15. All are essential fatty acids except :

(l) Stearic acid (2) Linolenic acid

(3) Arachidonic acid (4) Linoleic acid

.EB-20221(Forensic Sci.)-(SET_yy(A) 
p. T. O.
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86. A dimensionless quantity : '-

(l) never has a unit (2) always has a unit

(3) may have a unit (4) None of the above

87. A ball of mass ,?? moves with the speed y and it strikcs normally with a wall and

reflected back normally. If its time of contact with wall is l, then find the force exertcd

by the ball on the wall :

(t) Y! Q) mvt
2t

(3) mv gU
tt

88. A man throws the bricks to height of 12 m, wherc they reach with a speed of 12 m/s. If
he throws the bricks such that they just reach this height, what Yoage of energv he rvill

have :

(1) re% (2) 38% (3) 76% (4) s7%

89. The initial velocity of a particle is u(at, : 0) and the acceleration/is given by, which

of the following relation is valid ?

(l) v:u (2) r':u+at

(3) v--u+lrr' (4) S=u+ot2
2

v gO. Torque applied on a particle is zero, then its angular momentum will be :

(1) Equal in magnitude (2) llqual in direction

(3) Both (1) & (2) (4) None of the above

PG-EE-20 22 I (F or ensic Sci.)-(SET-Yy(A)
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rises,92.

93. Two wires of the same material but of different diameter carries the same current i. I1'

the ratio of their diarneter is 2 : 1, then coffcsponding ratio of their mean drift vclocities

94. A transformer is a device u'hich ?

(l) Transforms frequency

(3) Transform energy

(2) Increase

(4) None of the above

(3) 1:1

Transform voltage

Generate emf

(2) 2: I

(2)

(4)

95. Alternating current can not be measured by DC ammeter because :

(1) AC is virtual

(2) AC changes its direction

(3) AC can not pass through DC ammeter

(4) Average value of complete cycle is zero

PG-EE-20 22 I (B or ensic Sci.)-(SET-Yy(A)

Syr/Wni"h one of the following substance possesses the heighest elasticity ?

(1) Steel

(3) Copper

A piece of wood is

of wood will :

(1) Decrease

(3) Remain same

will be :

(l) l:a

(2)

(4)

floating in water, when

Rubber

Glass

the temperature

$) 4:t

the apparent weight

P. T. O.
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96. Focal length of Plane mirror is :

(l) Infinite

(3) Indefinite

(2) Zero

(4) Very less

gZ. The number of solutions of the equation sin x + 2 sin 2x: 3 + sin 3x in the interval

(0, zr) is :

(r) | (2) 3 (3) o (4) 2

gg. A die is thrown 100 times, getting an even number is considered a success.'l'he

variance of the number of successes is :

(t) 25 (2) t2 (3) lo (4) 18

gg. In case of linear programming problems. t'easible region is always :

(1) a concave set (2) a bounded convex set

(3) a bounded concave set (-l) a convex set
,/

,/
,40o. An animal feed company must produce 200 kg of a mixture consisting of ingrcdicnts

Xr and X2. The ingredients X, cost Rs. 3.0kg and X2 costs Rs. 5.0/kg. Not morc than

80 kg of Xr can be used and at least 60 kg of X2 must bc used. Then which of the

following is not correct ?

(t) The number of decision variables are two

(2) The number of constants are two

(3) The problem has only one feasible point

(4) The optimal solution is to mix 80 kg of ingredients X1 and 120 kg of ingredient X2

to have a minimum cost of Rs. 840/kg

PG-EE-2022/(Forensic Sci.)-(SET-YXA)
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1. Which of the following immunoglobulins can pass through the placental barrier ?

(l) rsD

(3) IgE

2. Hydra animal belongs to phylum :

(l) Helminthes

(3) Porifera

(2) rsc

(4) None of the above

Coclentrata

None of the above

(2)

(4)

A lysosome present in a cell has the function of :

( l) Intracellular digestion

(2) Role in metamorphosis

(3) Role in fertilisation

(4) All of the above

Phagocytosis is a term used tbr cellular process for ingesting and eliminating particles

including:

(l) Microorganisms

(2) Apoptotic cells

(3) Both (l) & (2)

(4) None of the above

PG-EE-20221 (F orensic Sci.)-(SET-Yy(B) P. T. O.
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5. Lampbrush chromosomes are not found in :

( I ) Amphibians

(3) Birds

6. Genetic is defined as the scientific study of :

(l) Genes

(2) Genetic variation

(3) Heredity in organisms

(4) All of the above

7. Apiculture is the name for :

(1) Bee rearing

(3) Both (l) & (2) 
;

What is true about male mosquito ?

(l) Presence of two mandibles

(2) Presence of four mandibles

(3) Absence of mandibles

(4) None of the above

(2) Mammals

(4) Insects

(2)

(4)

Earthworm rearing

None of the above

PG-EE-20 221 (F orensic Sci.)-(SET-YXB)
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9. Prostocyclins are synthesized in :

(1) Endothelial cells (2) Platelets

(4) Basophils(3) RBC

10. When blood flows from the arteries into capillaries, BP ?

12. The value of electrode potential does not get affected by :

( I ) Decrease

(3) Both (1) and (2)

11. The solvent used in NMR spectroscopy is :

(1) rMS

(3) CDt3

(l) nature of cell

(3) nature of electrode

13. Raman spectra is observed in :

(1) Visible region

(3) UV region

(2) Increase

(4) None of the above

(2) CCl4

(4) None of the above

(2) temperature

(4) concentration of solution

(2) IR region

(4) Microwave region

14. The molecule which is IR inactive but Raman active is :

(1) SO, (2) Nz Q) HCt (4) Protein

PG-EE-20221(Borensic Sci.)-(SET-Yy(B) , P. T. O.
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,5. Pyrene is :

(l) CarbonYl chloride

(3) Chloroform

16. Plant cell wall is mainly composed of :

(l) Starch

(3) Protein

(2) Carbon tetrachloride

(4) Sulphur monoch\oride

Cellulose

Lipid

(2)

(4)

17. Chromosomes play important role in heredity, it was suggested in 1900 by :

(l) Messelson

(3) Carl Correns

18. The main constituent of cell wall of diatom is :

(l) Pectin

(3) Silica

(2) Joshua Ryan

(4) McCarthy

(2) Mucilagc

(4) Cellulose

19. Which fungus is responsible for production of citric acid ?

(l) Penicillium

(2) Aspergillus niger

(3 ) Fusarium moniliformae

(4) Puccinia graminis

PG-EE-2O 22 I (F or ensic Sci.)-(SET-Yy(B)



n. I*'tro coined the term taxonomy ?

(l) de Candolle

(3) Braun

21. Poikilothermal term is associated with :

(1) Warm blooded

(3) Tadpole Larva

22. The yellow colour of urine is due to :

(1) Uric acid

(3) Urea

23. Heterocrine is a composite gland and acts as :

(l) Exocrine

(3) Both (1) & (2)

(1) Cone cells

(3) Bipolar cells

25. All are essential fatty acids except :

(l) Stearic acid

(3) Arachidonic acid

FG.EE-20 221 (F orensic Sci.)-(SET-Yy(B)

(2)

(4)

(2)

(4)

Bentham

Thome

External F ertilisation

Cold blooded

(2)

(4)

Bite juice

IJrochromc

(2) Endocrine

(4) None of thc above

(2) Red cells

(4) All of the above

Linolenic acid

Linoleic acid

24. The cells which are responsible for colour vision in vertebrates are :

(2)

(4)

P. T. O.
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26. A dimensionless quantitY :

(l) never has a unit (2) always has a unit

(3) may have a unit (-l) None of the above

27. A ball of mass rn moves with the speed v and it strikes normally with a wall anr

reflected backnormally. If its time of contac'. s'ith salI is t. thcn find the force exerter

by the ball on the wall :

(l) mv Q) mvt
2t

(3) mv (1) ?Y
gt

2g. A man throws the bricks to height of 12 m, where thcy reach with a speed of 12 m/s. I

he throws the bricks such that thel' just reach this height, what o/oage of energy he wi

have :

(1) rs% (2) 3S% (3) 76% (4) s7%

29. 'fhe initial velocity of a particle is u(a/ r : 0) and the acceleration /is given by. whic

of the following relation is valid ?

(l) v:u Q) v:u*at

(3) v=u+l*' (4) s=tt+at2

30. Torque applied on a partiole is zero, then its angular momentum will be :

(l) Equal in magnitude (2) Equal in dircction

(3) Both (1) & (2) (4) None oI the above

PG-EE-20 221 (F orensic Sci.)-(SET-YXB)
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31. A nro digit number is such that the product of the digit is 8. When l8 is addcd to thc

number, then the digits are reversed. The number is :

(2) 24(l) 18 (3) 42 (4) 81

32. If A: XYo of Y and B:Yo/o of X. then which of the following is true ?

(1) A is greater than B

(2) Relationship between A and B can not be detennined

(3) If X is smaller than Y, then A is greater than B

(4) None of the above

33. A man travelled a distance of 6l km in nine hours. He travclled partly on foot @, 4

km/trr and partly on horse @ 9 kmph. The distance covered on foot is :

(1) 14 km (2) ls km (3) 16 km (4) 17 km

34. What will be in place of question mark (?) in the following series ?

BZA, DYC, FXB, FIWG, ?

(1) vJr (2) JWU (3) JVr (4) vIJ

35. Sh. Jayant Kumar Magan Lal Vyas for his contribution in the field

Engineering was awarded in the year 2022 :

(1) Padma Bhushan

(2) Padrna Shri

(3) Padma Vibhushan

(4) None of the above

PG-EE-20 221 (F orensic Sci. )-(SET-Yy(B)
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36. Forensic Science is defined as :

(1) Application of scientific principles in the administration ofjustice

(2)Applicationofscientifictechniquesintheadministrationofjustice

(3) Both (1) and (2)

(4) None of the above

g7. The origin of word forensic is from:

(l) French

(3) Latin

(2) German

(4) None of the above

38. The finger print patterns are categorized as :

(1) Arch (2) t'ooP

(3) Whorl (4) All of the above

39.Incyberforensic,thedigitalevidenceexistsinthefonnof:

(l) Physical (2) BinarY

(3) Both (l) and (2) (4) None of the above

40. sodium pentothar is a drug administered in rie dctcction tcst and that is namcd as :

(1)Polygraphtest(2)LayeredVoiceAnalysistest

(3) Narco test (4) SDS test

PG-EE-2022/(Forensic Sci')-(SET-YXB)
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41. Which one of the following substance possesses the heighest elasticity ?

( 1) Steel

(3) Copper

42. A piece of wood is floating in water, when the temperature rises, the apparent weight

of wood will :

( I ) Decrease

(3) Remain same

(2) Rubber

(4) Glass

(2) Increase

(4) None of the above

(2) Transform voltage

(4) Generate emf

43. Two wires of the same material but of different diameter.carries the same current i. If
the ratio of their diameter is 2 : l, then corresponding ratio of their mean drift velocities

will be :

(1)l:4 (2)2:t (3)l:1 (a)a:l

44. A transformer is a device which ?

(1) Transforms frequency

(3) Transform energy

45. Alternating current can not be measured by l)C ammeter because :

(1) AC is virtual

(2) AC changes its dircction

(3) AC can not pass through DC ammeter

(4) Average value of cornplete cycle is zero

PG-EE-20221(Forensic Sci.)-(SET-Yy(B) P. T. O.



10

46. Focal length of plane mirror is :

(1) Infinite (2) Zero

(3) Indefinite (4) Very less

47. The number of solutions of the equation sin x + 2 sin2x=3 + sin 3x in the interva

(0, n) is :

(1) I (2) 3 (3) 0 (4) 2

48. A die is thrown 100 times, getting an even number is considered a success, -['h

variance of the number of successes is :

0) 2s (2) 12 (3) 10 (4) 18

49. In case of linear programming problems, feasible region is always :

(1) a concave set

(3) a bounded concave set

(2) a bounded convex sct

(4) a convcx sct

50. An animal feed company must produce 200 kg of a mixture consisting of ingrcdient

X1 and X2. The ingredients X1 cost Rs. 3.0/kg and X2 costs Rs. 5.0/kg. Not more thar

80 kg of X1 can be used and at least 60 kg of X2 must be used. Then which of th
following is not correct ?

(1) The number of decision variables are two

(2) The number of constants are two

(3) The problem has only one feasible point

(a) The optimal solution is to mix 80 kg of ingredients X1 and I 20 kgof ingledient X

to have a minimum cost of Rs. 840/kg

PG-E E-20 22 I (F orensic Sci.)-(SET-Yy(B)
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51. The living element of Xylem is known as :

( I ) Vessels (Z) Xylem fiber

(3) Tracheids (4) Xylcm parenchyma

52. 'l'he example of leafy Bryophyte is :

(1) Riccia (2) Anthroceros

(3) Porella (4) Marchantia

53. The plant saffron is obtained from :

( 1) Sepals (2) Petals

(3) Stamens (4) Stigma & style rops

54. Mendel published his findings on the principle of inheritance in the year :

(1) l8s7 (2) t7s3 (3) 1866 (4) 1e00

55. Which scientist first discoverd bacteria ?

( I ) Louis Pasteur (2) Roberr Koch

(3) Av Leeuwenhoek (4) Roben Hooke

56. The following is the hotspot of biodiversity in India :

(1) Amarkantak (2) Ihe Western Ghat

(3) Panchmarhi (4) the Easrern Ghat

PG-EE-2O 22l(Forensic Sci.)-(SET-Y)/(B) p. T. O.
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57. The name 'Molecular Scissor' is given to the enzyme :

(2) Lipase

(4) Ligase

" 58. Fruit in which fericarp is fused with the seed coat is known as :

(1) Berry

(3).Herperidium

59. The formation of gametophyte directly from sporophyte tissue without spore formation

is called :

B

(1) Apospory

(3) Heterospory

60. Who gave phylogenetic classification ofplant ?

(1) Hydrogenase

(3) Endonuclease

(1) Linnaeus

(3) Bentham

(2) Caryopsis

(4) Capsule

(2) Apogamy

(4) Porogamy

(2) Engler and Prantl

(4) Hooker

61 . Atom is the smallest indivisible particle of mattcr was proposcd in 1808 by :

(l) J J'fhomson (2) John Dalton

(3) Rutherford (4) Bohr

PG-EE -20 22 I (F or ensic Sci.)-(SET-Yy(B)
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62. The mass of neutron is of the order of :

(t) to-2a t<g (2) to-23 kg

(3) ro-" kg (4) lo-2'kg

63. The spectrum produced from an element is :

64. The angular momentum of an electron is zero. In which orbital it may be present ?

(r) 2p (2) 4t (3) 2s (4) 2t

65. Ionisation potential for isotopes of an elemcnt is :

(l) Absorption spectrum

(3) Line spcctrum

(l) Different

(3) Same

(2) Atomic spectrum

(4) All of the above

(2) Affected by atomic weight

(4) Aff-ected by neutrons

66. The first element of a group in many ways different from the other heavier membcrs ol'

the group, which is due to ?

(l) Unavailability of d orbital

(2) Small size

(3) High electronegative and high ionization potential

(4) All of the above

PG-EE-20221 (B orensic Sci.)-(SET-Yy(B)
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67. Which oxide is amphoteric in nature ?

(I) Na2o (2) Zno Q) Bao $) Cao

68. Nuclear fission was first discovered by :

(1)Soddy(2)Fajan(3)Russel(4)ottoFlahn

69. Radioactive disintegration rate is affected by :

(1) Pressure (2) Electric field

(3) Temperature (4) None of the above

70. The shape of molecule is distorted by :

(1) Inert Pair of electrons

(2) Ion Pair of electron

(3) Bond Pair of electron

(4) Both bond pair and inert pair of electrons

71. Buffer is a solution :

(1)WhichmaintainsitspHconstentuponadditionofsrnallamountofacidorbasc

(2) Mixture of weak acid

(3) Mixture of weak base

(4) Both (2) and (3)

PG-EE-2022/(Forensic Sci')-(SET-YXB)
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72. Which one of the following is weak Lewis base ?

(1) H* (2) OH- (3) HCO; (4) Cr

73, The lbrces acting between nobel gas atoms are :

(l) Magnetic forces

(3) Vander Waal's forces

(1) p-nitrophenol

(3) o-cresol

PG-EE-20 221 (F orensic Sci.)-(SET-Yy(B)

(2) Ion dipole forces

(4) London forces

(2) p-chlorophenol

(4) p-cresol

74. The gas which is filled in tungsten lamp is :

(t) He (2) Hz (3) Ar (0 Oz

75. The gas responsible for Bhopal gas tragedy was :

(1) Acid rain

(2) Methyl isocyanate gas

(3) Green house effcct

(4) None of the above

76. The gas which has strong affinity towards haemoglobin and produces toxis effect is :

(t) No2 (2) Co

(3) sO, (4) None of the above

77. The most acidic among the following is :

P. T. O.
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Zg. A compound in which hydroxyl goup is attached directly to the aromatic ring was

discovered by :

"(1) Runge

(3) Perkin

79. When DDT passes into food chain, it concentration :

(l) increases (2) decreases

(3) remains same (4) All of the above

80. Which of the following compound has the most de-shielding protons ?

(1) CHel (2) CH o (3) CH 3Cl (4) CII tBr

81. Primary crime scene is defined :

(1) Where actual criminal activig' occurred

(2) Where bodY of victim was found

(3) Where weapon of offence was recovered

(4) All of the above

g2. In scanning electron microscope, the electron interact with atoms in the sample and

provide information about :

(1) The surface toPograPhY

(2) Composition of samPle

(3) Both (1) & (2)

(4) None of the above

PG-EE-20 221 (F or ensic Sci.)-(SET-Yy(B)

(2) Rutherford

(4) None of the above
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83. Diatom test is used in cases of :

( l) Firearm injuries (2) Soil analysis

(3) Drowning cases (4) None of thc above

84. The ABO blood-groups were discovered by :

(l) Budowle (2) Landsteiner

(3) Mendel (4) None of the above

85. An incised injury is caused with the help of :

(l) Knife (2) Wooden srick

(3) Steel rod (4) Brick

86. Ganja is derived from the plant named :

(l) solanum Nigrum (2) cannabis sativa

(3) UIex Europeaus (4) None of the above

87. Glass on forensic evidence can be best analysed by :

(l) Densiry gradient method

(2) Magnifing lens

(3) Inductivery coupred prasma opticar Emission Spectrometry (ICp_oEs)

(4) All of the above

PG-EE-2022/(Forensic Sci.)_(SET_yy(B) 
p. T. o.
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88. Osteometry is defined as :

(1) Study and measurement of human skeleton

(2) Study and measurement of animal skeleton

(3) Both (1) & (2)

(4) None of the above

89. A Single Barrel Break Loading (SBBL) firearm is where ?

(1)Theuserloadsammunitionviatherearendofitsbarrel

(2)Theuserloadsammunitionviathefrontendofitsbarrel

(3) Both (1) & (2)

(4) None of the above

90. The father of the science of questioned document examination is :

(1) Dr. Alee JaffreY (2) A S Curry

(3) ASosborn (4) CHGoddard

91. Mr. Ranil wickerm singhe from the united National party of Sri l,anka occupied thr

Position of :

(1) President (2) Prime Minister

(3) Finance Minister (4) All of the above

PG-EE-2022/(Forensic Sci')-(SET-Yy(B)
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92' Mr' Raghuvendra Tanwar was awarded padma Shri in 2022 inthe field of :

(t) Trade & Industry (2) Sporrs

(3) Science & Engineering 
@) Literature & Education

93' wHo Global centre for Traditional Medicine (wHoGcTM) wi1 be estabrished inIndia ?

(l) Dehradoon (2) lamnagar

(3) Gangtok 
(4) Shillong

94' The US census Bureau has projected the worrd popuration to be :

(l) Z.O biilion (D 7.Bbiilion

(3) S.O billion 
(4) 8.8 biilion

95' Pointing to a girl, vriay said, "This girl is daughter of only child of my father,,. what isthe relation of Vijay,s wife to that girl ?

(l) Daughter 
(2) Sister

(3) Mothe. 
(4) Mother_in_law

96. Find the word which is different from others :

(l) caP 
(2) Veil

(3) Turban 
(4) Hat

PG-EE-2O 22/(Forensic Sci.)-(SET-y)/(B) 
p. T. o.
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97. The difference between the times taken by two cars to travel a distance of 350 krn is

2 hr and 20 minutes. If the difference between their speed is 5 krnph, find slower specd

in kmph :

(r) 3s (2) 20 (3) 2s (4) 30

98. A train covers a distance of 12 km in l0 minutcs. Il it takes 6 seconds to pass a flag

post, then the length of train is :

(1) 120 m (2) 150 m (3) 200 m (4) 250 m

99. A hall is 15 m long and 12 m wide. If the sum of the areas of floor and ceiling is equal

to the sum of the areas of four walls, the volume of the hall is :

(r) 720 (2) e00 (3) 1200 (4) 1800

100. A sum of money is to distributed among A, B, C and D in the proportion of 5 : 2 :4 :3.

If C gets Rs. 1,000 more than D, what is B's share ?

(l) Rs. 500 (2) Rs. 1,500

(3) Rs. 2,000 (4) None of the above

PG-EE-2022/(Fore nsic Sci.)-(SET-Yy(B)
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17 Btffer is a solution :

(l) Which maintains its PH

(2) Mixture of weak acid

(3) Mixture of weak base

(4) Both (2) and (3)

2. Which one of the following is weak Lcwis base ?

(1) Hn (2) oH - (3) HCo; (4) cr

3. The forces acting between nobel gas atoms are :

constent up on addition of small amount of acid or base

(l) Magnetic forces

(3) Vander Waal's tbrces

4. The gas which is filled in tungsten lamp is :

(r) He (2) Hz (3) Ar

5. The gas responsible for Bhopal gas tragedy was :

(1) Acid rain

(2) MethYl isocYanate gas

(3) Green house effect

(4) None of the above

P G-EE -2022 /(F ore nsic Sci.) - (S Ef 'Y KC)

(2) Ion dipole forces

(4) London forces

(4) oz

P. T. O.
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The gas which has strong affinity towards haemoglobin and produces toxis cffcct is :

(l) NO2

(3) SO2

7. The most acidic among the following is :

(1) P-nitroPhenol

(3) o-cresol

(1) Runge

(3) Perkin

(1) increases

(3) remains same

(1) CHel

(3) cH 3Cl

PG-EE-20 22 I (F or ensic Sci')-(SET-YXC)

(2) co

(4) None of the abovc

(2) p-chloroPhenol

(4) p-cresol

(2) Rutherford

(4) None of the above

(2) decreases

(4) All of the above

(2) cH q

(4) 
'!,u,

Acompoundinwhichhydroxylgroupisattacheddirectlytothearomaticringwas

discovered bY :

g.WhenDDTpassesintofoodchain'itconcentration:

10. Which of the following compound has the most de-shielding protons ?
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11/ Primary crime scene is defined :/

(l) Where actual criminal activity occurrcd

(2) Where body of victim was found

(3) Where weapon of offence was recovered

(4) All of the above

In scanning electron microscope, the electron interact with atoms in the

provide information about :

(l) The surface topographl'

(2) Composition of sample

(3) Both (r) &. (2)

(4) None of the above

sample and12.

13. Diatom test is used in cases of :

(l) Firearm injuries

(3) Drowning cases

14. The ABO blood-groups were discovered by:.

( I ) Budowle

(3) Mendel

PG-EE-2O 22 I (F orensic Sci.)-(SET-yy(C)

(2)

(4)

Soil analysis

None of the above

(2) Landsteiner

(4) None of the above

P. T. O.
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15. An incised injury is caused with the help of :

(1) Knife

(3) Steel rod

16. Ganja is derived from the plant named :

(l) Solanum Nigrurn

(3) Ulex EuroPeaus

(2) Wooden stick

(4) Brick

(2) Cannabis Sativa

(4) None of the above

17. Glass on forensic evidence can be best analysed by :

(1) DensitY gradient method

(2) Magniffing lens

(3) Inductively Coupled Plasma Optical Ernission Spectrometry (ICP-OES)

(4) All of the above

18. Osteometry is detined as :

( I ) Study and measurement of human skeleton

(2) Study and measurement of animal'skeleton

(3) Both (t) & (2)

(4) None of the above

PG-EE-20 221 (F orensic Sci.)-(SET-Yy(C)
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19. A Single Barrel Break Loading (SBBL) firearm is whcre ?

(l) The user loads ammunition via the rear end of its barrel

(2) The user loads ammunition via the front end of its barrel

(3) Both (t) & (2)

(4) None of the above

(2)

(4)

(t)

(3)

(2)

(4)

ZL Mr. Raghuvendra Tanwar was awarded Padma Shri in 2022 inthe field of :

Prime Minister

All of the above

(2) Sports

(4) Literature & Education

23. WHO Global Centre for Traditional Medicine

India ?

(WHOGCTM) will be establishcd in

(l) Dehradoon

(3) Gangtok

PG-EE-2O22 I (F orensic Sci.)-(SET-yy(C)

(2)

(4)

Jamnagar

Shillong

3y The father of the science of questioned clocument examination is :

Dr. Alee Jaffiey

A S Osborn

21. Mr. Ranil Wickerm Singhe

position of :

(1) President

(3) Finance Minister

(l) Trade&Industry

(3) Science & Engineering

from the United

A S Curry

C II Goddard

National Purty of Sri l.anka occupied the

P. T. O.



24. The us census Bureau has projected the world population to be :

(l) 7.0 billion

(3) 8.0 billion

(2) 7 .8 billion

(4) 8.8 billion

(3) Mother (4) Mother-in-law

25. Pointing to a girl, Vrjay said, "This girl is daughter of only child of my father". What is

the relation of Vijay's wife to that girl ?

(l) Daughter (2) Sister

26. Find the word which is different from others :

(1) Cap (2) Veil (3) Turban (a) llat

27. The difference between the times taken by two cars to travel a distance of 350 krn is

2hr and 20 minutes. If the difference between their speed is 5 kmph. find slower speed

in kmph :

(1) 3s (2) 20 (3) 2s

28. A train covers a distance of 12 km in 10 rninutcs. If, it takcs 6 seconds to pass a Ilag

post, then the length of train is :

(l) 120 m (2) 150 m (3) 200 m (4) 250 m

A. A hall is I 5 m long and l2 m wide. If the sum of the areas o1- floor and ceiling is equal

to the sum of the areas of four walls, the volume of the hall is :

(2) e00

(4) 30

PG-EE-20 22 I (F orensi c Sci. )-(SET-YXC)

(3) 1200 (4) 1800

6
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30' A sum of mone'is to distributedamongA, B, c and D intheproportionof 5: 2:4:3.
If C eers Rs. 1.000 more than D, what is B,s sharc ?

. Rs. 500 (2) Rs. 1.500

(3) Rs. 2,000 (4) None of the above

31' )Mhich one of the fouowing substance possesses the heighest erasticitu ?
'u''----Y'tvLJ-

(1) Steel

(3) Copper

(l) Transforms frequency

(3) Transform energy

PG-EE-20 22/ (F orensic Sci.)_(SET-yy(C)

(2) Rubber

(4) Glass

(2) Transform voltage

(4) Generate emf

32' A piece of wood is floating in water, when the ternperature rises, the apparent weight
of wood will :

(l) Decrease (2) Increase

(3) Remain same (4) None of the above

33' Two wires of the same material but of different diarneter carries the same current i. If
the ratio of their diameter is 2 : 1, then corresponding ratio of their mean drift velocitics
will be :

(1)t:4 e)2:t (3)l:t @)a:t
34. A transformer is a device which ?

P. T. O.
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3!t. Alternating current can not be measured by DC ammeter because :

(l) AC is virtual

(2) AC changes its direction

(3) AC can not pass through DC ammeter

(4) Average value of complete cycle is zero

36. Focal lengh of plane mirror is :

(1) Infinite (2) 7.ero (3) Indefinite (4) Very less

37. The number of solutions of the equation sin x * 2 sin 2x: 3 + sin 3x in the interval
(0, n) is :

(1) I (2) 3

38. A die is thrown 100 times, getting an

variance of the number of successes is :

(2) 12

(3) 0 (4) 2

even number is considered a success. 'l hc

(3) 10 (4) 18(1) 2s

39. In case of linear programming problems, feasible region is always :

(2) a bounded convex set

(a) a convex set

(1) a concave set

(3) a bounded concave set

40. An animal feed company must produce 200 kg of a mixture consisting of ingredients

- X1 4nd X2. The ingredients X1 cost Rs. 3.0/kg and Xz costs Rs. 5.0/kg. Not more than

80 kg of Xr can be used and at least 60 kg of X2 must be used. Then which o1 the

following is not correct ?

(l) The number of decision variables are two

(2) The number of constants are two

(3) The problem has only one feasible point

(a) The optimal solution is to mix 80 kg of ingredients X1 and 120 kg of ingredient X2

to have a minimum cost of Rs. 840/kg

PG-EE-2022t (F orensic Sci.)-(SET-Yy(C)



41._ lh.- liring element of Xylern is known as :

t 1 t Vesscls

(3) Tracheids

42. The example of lcaly Bryophyte is :

(1) Riccia

(3) Porella

43. The plant saffron is obtained from :

(1) Sepals

(3) Stamens

(2) Xylem frber

(4) Xylcrn parcnchYma

(2) Anthroceros

(4) Marchantia

(2) I'etals

(4) Stigma & style tops

44. Mendel published his findings on the principle of inheritance in the year :

(1) 18s7 (2) t7s3 (3) 1866 (4) leoo

45. Which scientist first discoverd bacteria ?

(1) Louis Pasteur

(3) Av Leeuwenhoek

(1) Amarkantak

(3) Panchmarhi

PG-EE-20 22 t (F orensic Sci.)-(SET-Yy(C)

(2) Robert Koch

(4) Robert Flooke

(2) The Western Ghat

(4) The lrastern Ghat

46. The following is the hotspot of biodiversity in India :

P. T. O.
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47. The name'Molecular Scissor'is given to the enzyme :

48. Flruit in which peric4rp is fused with the seed coat is known as :

(1) llydrogenase

(3) Endonuclease

(1) Berry

(3) Herperidium

(i) Apospory

(3) Heterospory

(1) Linnaeus

(3) Bentham

(l) J J Thomson

(3) Rutherford

PG-EE-2O 221 (F or ensic Sci.)-(SET-Yy(C)

(2) Lipasc

(4) Ligase

(2) Caryopsis

(4) Capsule

Apogamy

Porogatny

(2) John Dalton

(4) Bohr

49. The formation of gametophyte directly from sporophyte tissue without sporc tbrmation

is called :

(2)

(4)

50. .Who gave phylogenetic classification of plant ?

(2) Engler and Prantl

(4) Hookcr

51. Atom is the smallest indivisible particle of matter was proposed in 1808 by :
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52. l'he rnass of ncutron is of the order of :

(l) 10 
2a kg e) 10 

23 
kg

(3) lo 27 kg (4) lo 2e 
kg

53. The spectrum produced from an element is :

54. The angular momentum of an electron is zero. In which orbital it may be present ?

(r) 2p (2) 4t (3) 2s (4) 2f

55. Ionisation potential for isotopes of an element is :

(l) Absorption spectrum

(3) t,ine spectrum

(1) Different

(3) Same

(2) Atomic spectrum

. (4) All of the above

(2) Affected by atomic weight

(4) Affected by neutrons

The first element of a group in many ways different from the other heavier members ol'

the group. rvhich is due to ?

(l ) Unavailability of d orbital

(2) Small size

(3) High electronegative and high ionization potential

(4) All of the above

P'GE E-2022 I (F orensic Sci.)-(SET-yy(C) P. T. O.
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57. Which oxide is amphoteric in nature ?

(l) NazO (2) ZnO (3) BaO g) CaO

58. Nuclear fission was firSt discovered by :

(1) SoddY (2) Fajan (3) Itussel (4) Otto llahn

(l) Pressure

(3) TemPerature

60. , The shape of rnolecule is distorted by :

(l) Inert Pair of electrons

(2) Ion Pair of electron

(3) Bond Pair of elcctron

(4) Both bond pair and inert pair of electrons

61.,/Which of the following immunoglobulins can pass through the placental barrier ?

(1) IsD

(3) I"E,b

62. Hydra animal belongs to PhYlum :

(1) Helminthes

(3) Porit-era

PG-EE-2022/(Forensic Sci')-(SET-Y)/(C)

(2) Electric field

(4) None of the above

(2) IsG

(4) None of the above

(2) Coelentrata

(4) None of the above

59. Radioactive disintegration rate is affected by :
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63. A lysosome present in a cell has the function of :

(1) Intracellular digestion

(2) Role in meramorphosis

(3) Role in fertilisarion

(4) All of the above

Phagocytosis is a term used for cellular process for ingesting and eliminating particlcs

including:

( I ) Microorganisms

(3) Both (l) & (2)

65. Lampbrush chromosomes are not found in :

(l) Amphibians

(3) Birds

(2)

(4)

Apoptotic cells

None of the above

(2) Mammals

(4) Insects

. 66. Genetic is defined as the scientific study of :

(l) Genes

(2) Genetic variation

(3) Heredity in organisms

(4) All of the above

PG-EE-2022/(Forensic Sci.)-(SET-yy(C) p. T. o.
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67. Apiculture is the name for :

(1) Bee rearing

(3) Both (l) & (2)

68. What is true about male mosquito ?

(1) Presence of two mandibles

(2) Presence of four mandibles

(3) Absence of mandibles

(4) None of the above

69. Prostocyclins are synthesized in :

(1) Endothelial cells

(3) RBC

When blood flows from the arteries

(1) Decrease

(3) Both (1) and (2)

71., Poikilothermal term is associated with

(l) Warm blooded

(3) TadPole Larva

PG-EE-2O 221 (F orensic Sci.)-(SET-Yy(C)

Earthworm rearing

None of the above

(2) Platelets

(4) Basophils

into capillaries, BP ?

(2) Increase

(4) None of the above

(2)

(4)

70.

(2)

(4)

External Fertilisation

Cold blooded



72. The yellow colour of urine is due to :

(1) Uric acid (2) Bite juice (3) IJrea

73. Heterocrine is a composite gland and acts as :

(l) Exocrine

(3) Both (t) & (2)

(4) Urochrorte

(2) Endocrine

(4) None of the above

74' The cells which are responsible for colour vision in vertebrates are :

(l) Cone cells

(3) Bipolar cells

75. All are essential fatty acids except :

(l) Stearic acid

(3) Arachidonic acid

76. A dimensionless quantity :

(l) never has a unit

(3) may have a unit

(2) Red cells

(4) All of the above

(2) Linolenic acid

(4) Linoleic acid

(2) always has a unir

(4) None of the above

T7' A ball of mass ,n moves with the speed v and it strikes normally with a wall and
reflected back normally. If its time of contact with wall is t, then find the force exerted
by the ball on the wall

Q# (2) mvt @Y
t

(4) 2mv

t

E-2022 I (Forensic Sci.)-(SET-yy(C)
P. T. O.
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A man throws the bricks to height of 12 m, where they reach with a speed of 12 m/s. If

he throws the bricks such that they just reach this height, what Yoage of energy he will

have :

(1) 1e% (2) 38% (3) 760/o (4) s7%

The initial velocity of a particle is u(an: 0) and the acceleration/is given by, which

of the following relation is valid ?

(l) v: u

(3) v = tt+Io,'

(1) Equal in magnitude

(3) Both (1) & (2)

(2) v:u*ot

(4) s=u+at2

' (2) Equal in direction

(4) None of the above

Torque applied on a particle is zero, then its angular momentum will be :

g_1. A two digit number is such that the product of the digit is 8. when 18 is added to the

number, then the digits are reversed' The number is :

(1) 18 (2) 24 (3) 42

g2. If A: X% of Y and B :Yo/o of X, then which of the following is true ?

(1) A is greater than B

(2) Relationship between A and B can not be determined

(3) If X is smaller than Y, then A is greater than B

(4) None of the above

PG-EE-20 22 t (F orensic Sci.)-(SET-Yy(C)

(4) 81

-
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83' A man travelled a distance of 6l km in nine hours. He travelled partly on foot @
kmhr and panll' on horse @ 9 kmph. The distance covered on foot is :

(2) 15 km (3) 16 km (4) 17 km

t4- shar r,rill be in place of question mark (?) in the following series ?

BZA\ DYC, FXB, HWG, ?

(l) vJr (2) JWU (3) JVr (4) vrJ

85. Sh. Jayant Kumar Magan Lal Vyas for his

Engineering was awarded in the year 2022 :

(l) Padma Bhushan

(2) Padma Shri

(3) Padma Vibhushan

(4) None of the above

86. Forensic Science is defined as :

contribution in the field of Science &

(l) Application of scientific principles in the administration ofjustice

(2) Application of scientific techniques in the administration ofjustice

(3) Both (t) and (2)

(4) None of the above

PG-EE-20221(Forensic Sci.)-(SET-y)(C) r. T. o.
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87. The origin of word forensic is from :

(1) French

(3) Latin

(2) German

(4) None of the above

88. The finger print patterns are categorized as :

(1) Arch

(3) Whorl

(1) Physical

(3) Both (1) and (2)

g9. In cyb'er forensic, the digital evidence exists in the form of :

(2) Loop

(4) All of the above

(2) BinarY

(4) None of the above

y. Sodium pentothal is a drug administered in lie detection test and that is named as :

(l ) PolygraPh test

(3) Narco test

(l) nature of cell

(3) nature ofelectrode

PG-EE -20 22 t (F or ensic Sci.)-(SET-Y)/(C)

91. The solvent used in NMR spectroscopy ls :

(1) TMS Q) CCt4

(3) CDh (4) None of the above

92. The value of electrode potential does not get affected by :

(2) Layered Voice Analysis test

(4) SDS test

(2) temperature

(4) concentration of solution



Raman spectra is observed in :

t9

. \'isible region

ri t UV region

(l) so,

(3) HCt

95. Pyrene is :

(1) Carbonyl chloride

(2) Carbon tetrachloride

(3) Chloroform

(4) Sulphur monochloride

96. Plant cell wall is mainly composed of :

(l) Starch

(3) Protein

(1) Messelson

(3) Carl Correns

PG-EE -20 22 I (F or ensic Sci. )-(SET-yy(C)

(2)

(4)

IR region

Microwave region

tL rhe molecule which is IR inactive but Raman active is :

(2) N2

(4) Protein

(2)

(4)

Cellulose

Lipid

97. Chromosomes play important role in heredity, it was suggested in 1900 by :

(2) Joshua Ryan

(4) McCarthy

P. T. O.
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98. The main constituent of cell wall of diatom is :

(l) Pectin

(3) Silica

(2) Mucilage

(4) Cellulose

Bentham

Thome

99. Which fungus is responsible for production of citric acid ?

(l) Penicillium

(2) Aspergillus niger

(3) Fusarium moniliformae

(4) Puccinia graminis

lo0,.//Who coined the term taxonomy ?

(l) de Candolle

(3) Braun

(2)

(4)

PG-EE-2022(Forensic Sci.)-(SET-YXC)
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A'tro digit number is such that the product of the digit is 8. When 18 is added to the

number, then the digits are reversed. The number is :

(l) 18 (2) 24 (3) 42 (4) 81

2. If A : X% of Y and B : Yo/o of X. then which of the following is true ''l

(1) A is greater than B

(2) Relationship between A and B can not be dctcrmined

(3) If X is smaller than Y, then A is greater than B

(4) None of the above

3. A man travelled a distance of 6l km in nine hours. IIe travelled partly on foot (! 4

kmftrr and partly on horsc @ 9 kmph. The distance covercd on fbot is :

(l) 14 km (2) ls km (3) 16 km (4) 17 km

4. What will be in place of question mark (?) in the following series ?

BZA, DYC, FXB, HWG,

(1) vJI (2) JWU (3) JVI (4) vIJ

5. Sh. Jayant Kumar Magan Lal Vyas for his contribution in the field

Engineering was awarded in the year 2022 :

(1) Padma Bhushan

(2) Padma Shri

(3) Padma Vibhushan

(4) None of the above

PG-EE-20221 (F orensic Sci.)-(SET-Yy(D)
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P. T. O.

F-

D



6. Forensic Science is defined as :

(1) Application of scientific principles in the administration ofjustice

(2) Application of scientific techniques in thc administration ofjustice

(3) Both (1) and (2)

(4) None of the above

7. The origin of word forensic is from:

(1) French

(3) Latin

8. The finger print patterns are categorized as :

(1) Arch

(3) Whorl

(1) Physical

(3) Both (1) and (2)

(2)

(4)

German

None of the above

(2) Loop

(4) All of the above

(2) Binary

(4) None of the above

9. In cyber forensic, the digital evidence exists in the form of :

,/1

11./Sodium pentothal is a drug administeied in lie detection test and that is named as :

v 
(1) polygraph test (2) L.ayered Voice Analysis tcst

(3) Narco test (4) SDS tcst

PG-EE -20 22 t (F or ensic Sci.)-(SET-YyG))



::ch one of the following substance possesses the hcighcst clasticity ?

(t) Steel

(3) Copper

(2) Rubber

(4) Glass

12. A piece of wood is floating in water, when the temperature rises, the apparent weight

of wood will :

(1) Decrease

(3) Remain same

(2)

(4)

Increase

None of the above

13. Two wires of the same material but of diflbrent diameter carries thc same current i. If
the ratio of their diameter is 2 : 1, then corresponding ratio of their mean drift velocities

will be :

(l) | :4 (3) 1:1(2) 2:1 (a) a: I

14. A transformer is a device which ?

(l) Transforms frequency

. (3) Transform enerry

(2) Transform voltage

(4) Generate emf

15. Alternating current can not be measured by DC ammeter because :

(1) AC is virtual

(2) AC changes its direction

(3) AC can not pass through DC ammeter

(4) Average value of complete cycle is zero

PG-EE-2022 / (F orensic Sci.)-(SET-Yy(D) P. T. O.
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16. Focal length of plane mirror is :

(l) Infinite

(3) Indefinite

(2) Zerc

(4) Very less

17. The number of solutions of the equation sin x * 2 sin 2x : 3 + sin 3x in the interval

(0, n) is :

(l) I

(1) 2s (2) t2

(3) 0

(3) 10

(2) 3 (4) 2

(4) 18

1g. A die is thrown 100 times, getting an even number is considered a success. 'l'he

variance of the number of successes is :

19. In case of linear programming problems, feasible rcgion is ahval's :

(1) a concave set Q) abounded convex set

(3Ybbounded concave set (a) a convex set',/ 
I

,//
Z{ dn animal feed company must producc 200 kg of a mixture consisting of ingredicnts

V Xr and X2. The ingredients X1 cost Rs. 3.0/kg and X2 costS Rs. 5.0/kg. Not morc than

g0 kg of Xr can be used and at least 60 kg of Xz must be used. Then which of ^the

following is not correct ?

(1) The number of decision variables are two

(2) The number of constants are two

(3) The problem has only one feasible point

(a) The optimal solution is to mix 80 kg of ingredients X1 and 120 kg of ingredicnt X2

to have a minimum cost of Rs. 840/kg

PG-EE-20 22 t (F orensic Sci.)-(SET-Yy(D)



\\hich of the following immunoglobulins can pass through the placental barricr ?

( 1) IsD

(3) rsE

22. Hydra animal belongs to phylum :

(l) Helminthes

(3) Porifera

(2) rsc

(4) None of the above

Coelentrata

Nonc of the above

23. A lysosome present in a cell has the function of :

(l) Intracellular digestion

(2) Role in metamorphosis

(3) Role in fertilisation

(4) All of the above

Phagocytosis is a term used for cellular process for ingesting and eliminating pa(icles

including:

(l) Microorganisms

(2) Apoptotic cells

(3) Both (r) & (2)

(4) None of the above

(2)

(4)

PG-EE -20 22 I (F or ensic Sci.)-(SET-Y)(D) P. T. O.



25. Lampbrush chromosomes are not found in:

6

( I ) Amphibians

(3) Birds

26. Gcnetic is defined as the scientific study of :

(1) Genes

(2) Genetic variation

(3) Heredity in organisms

(4) All of the above

27. Apiculture is the name for :

(l) Bee rearing

(3) Both (l) & (2)

28. What is true about male mosquito ?

(1) Presence of two mandibles

(2) Presence of four mandibles

(3) Absence of mandibles

(4) None of the above

PG-EE-20 221 (F orensic Sci.)-(SET-YXD)

(2) Mammals

(4) Insects

(2)

(4)

Earthworm rearing

None of the above
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29. Prostocyclins are synthesized in :

(l) Endothelial cells

(3) RBC

Decrease

Botr (l) and (2)

solvent used in NMR spectroscopy is :

ilmd flows from the arteries into capillaries, BP ?

(2) Platelets

(4) Basophils

(2) Increase

(4) None of the above

gl2. The value of electrode potential does not get affected by :

T\4S

cDl3

( I ) nature of cell

(3) nature of electrode

33. Raman spectra is observed in :

(1) Visible region

(3) UV region

ccl4

None of the above

(2) tempcrature

(4) concentration of solution

IR region

Microwave region

(2)

(4)

(2)

(4)

34. The molecule which is IR inactive but Raman active is :

(r) soz (2) N2

PG-EE-2022 I (F orensic Sci.)-(SET-Yy(D)

(3) HCt (4) Protein

P. T. O.
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35. PYrene is :

(l) CarbonYl chloride

(3) Chloroform

36. Plant cell wall is mainly composed of :

(1) Starch

(3) Protein

(1) Pectin

(3) Silica

(1) Messelson

(3) Carl Correns

38. The main constituent of cell wall of diatom is :

(2) Carbon tetrachloride

(a) SulPhur monochloride

(2) Cellulose

(a) Lipid

(2) Joshua RYan

(4) McCarthY

(2) Mucilage

(4) Cellulose

gT.chromosomesplayimportantroleinheredity,itwassuggestedinlg00by:

39.Whichfungusisresponsibleforproductionofcitricacid?

(1) Penicillium

(2) AsPergillus niger

(3) Fusarium moniliformae

(4) Puccinia graminis

PG-EE-2022/(F orensic Sci')-(SET-Y)/(D)



'ho coined the term taxonomy ?

(1) de Candolle

(3) Braun

A
41. Ko is the smallest

(l) J J Thomson

(3 ) Rutherford

12- The mass of neutron is of the order of :

-'r!(l) l0 - kg

-)1(3) l0 - kg

43. The spectrum produced tiom an element is :

(l) Absorption spectrum

(3) Line spectrum

Bentharn

J'homc

indivisible particle of matter was proposed in 1808 by :

(2) .Iohn Dalton

(4) Rohr

(2)

(4)

(2) 10

(4) 10

_)1-" kg

_)o
r -'kg

(l) Different

(3) Same

PG-EE-20221 (F orensic Sci.)-(SET-Yy(D)

(2) Atomic spectrum

(4) All of the above

(2) Aff'ected by atomic weight

(4) Affected by neutrons

44. The angular momentum of an electrofi is zero. In which orbital it may be present ?

(3) 2s (4) 2f

45. Ionisation potential for isotopes of an element is :

(l) 2p (2) 4t

P. T. O.

9
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'l'he first element of a group in many ways dift-erent liom the other heavier mombers of

the group, which is due to ?

(l) Unavailability of d orbital

(2) Small size

(3) High electronegative and high ionization potential

(4) All of the above

47. Which oxide is amphoteric in nature ?

(r) NazO (2) ZnO (3) BaO @) CaO

48. Nuclear fission was first discovered b.v :

(1) Soddy (2) Fajan (3) Russel (4) Otto Hahn

49. Radioactive disintegration rate is affected b1 :

(1) Pressure

(3) 1'emperature

,/
50. The shape of molecule is distortedbyJ/

(l) Inert pair of electrons

(2) Ion pair of electron

(3) Bond pair of electron

(4) Both bond pair and inert pair of electrons

PG-EE-2022/(Forensic Sc i. )-(SET-Yy(D)

(2) Electric field

(4) None of the above
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Primary crime scene is defined :

( I ) \tr'here actual criminal activity occurred

(l r \\here bodl' of victim was found

r,1t \,lhere weapon of offcnce was recovcred

(4) All of thc abovc

the electron ihteract with atoms in the sample and
52.: In scanning electron rnicroscope,

,

(l) The surlhce topography .

(2) Composition of sample

(3) Both (l) & (2)

(4) None of the above

. :. :

53. Diatom test is used in cases of :

(l) Firearm injuries

(3) Drowning cases

54. The AtsO'lood"goupq were diseovered by ;

(t) Budowle

(3) Mendel

(2)

(4)

Soil analysis

None of the above

(2) Landsteiner

(4) None of the above

PG-8E.20 221(F orensic Sci.)-(SET-yXD)
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55. An incised injury is caused with the help of :

(l) Knife (2) Wooden stick

(3) Steel rod (4) Briok

56. Ganja is derived from the plant named :

(l) Solanum Nigrum

(3) Ulex Europeaus

(4) All of the above

Osteometry is defined as :

(l) Study and measurement of human skeleton

(2) Study and measurement of animal skeleton

(3) Both (l) &(2)

(4) None of the above

PG-EE-20 22 t (F o.rensic Sci.)-(SET-yy(D)

(2)

(4)

Cannabis Sativa

None ol'the abovc

57. Glass on forensic evidence can be best analysed by :

(1) Densiry gradient method

(2) Magni$ing lens

(3) Inductively Coupled Plasma optical Emission Spectrometry (ICp-oEs)

58.
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59- A single Barrel Break Loading (SBBL) firearm is where ?

(l) The user loads ammunition via the rear end of its barrel

(2) The user loads ammunition via the front end of its barrel

(3) Both (t) & (2)

(4) None of the above

The father of the science of questioned document examination is :

(l) Dr. Alee Jaffrey (2) A S Curry

(4) C H Goddard

(1)

(2)

(3)

(4)

ffer is a solution :

Which maintains its pH

Mixture of weak acid

Mixture of weak base

Both (2) and (3)

constent up on addition of small amount of acid or base

63. The forces acting between nobel gas atoms arc :

(l) Magnetic forces

(3) Vander Waal's forces

F'GEE-2O 22/ (F orensic Sci.)-(SET-y)(D)

62. Which one of the following is weak Lewis base ?

(1) H* (2) oH- (3) nco; g) ct-

(2) Ion dipole forces

(4) London forces

P. T. O.

(3) A$
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64. The gas which is filled in tungsten lamp is :

(I) He (2) Hz (3) Ar (0 oz

65. The gas responsible for Bhopal gas tragedy was :

(l) Acid rain

(2) Methyl isocyanate gas

(3) Green house effect

(4) None of the above

66. The gas which has strong affinity towards haemoglobin and produces toxis effect is :

(r) Noz

(3) .SO2

67. The most acidic among the following is :

(l) p-nitrophenol

(3) o-cresol

68. A compound in which hydroxyl $oup

discovered by :

(1) Runge

(3) Perkin

PG-EE-20 221 (F orensic Sci.)-(SET-yy(D)

(2) co

(4) None of the above

(2) p-chlorophenol

(4) p-cresol

is attached directly to the aromatic ring was

Rutherford

None of the above

(2)

(4)



69. When DDT passes into food chain, it concentration :

(2) decreases

(4) All of the above

?o/41"h of the following compound has the most de-shielding protons ?

(1) increases

(3) remains same

(1) CHeI

(3) CH3C|

'he living element of Xylem is known as :

( I ) Vessels

(3) Tracheids

72. The example of leaff Bryophyte is :

(l) Riccia

(3) Porella

73. The plant saffron is obtained from :

(l) Sepals

(3) Stamens

(2) CH o

(4) CHrBr

(2) Xylem fiber

(4) Xylem parenchyma

Anthroceros

Marchantia

Petals

Stigma & style tops

(2)

(4)

(2)

(4)

74. Mendel published his findings on the principle of inheritance in the year :

(1) l8s7 (2) t7s3

PG-EE-2022/ (F orensic Sci.)-(SET-yy(D)

(3) 1866 (4) 1e00

P. T. O.

71.
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77, The name'Molecular Scissor'is given to the enzyme :

75. Which scientist first discoverd bacteria ?

(1) Louis Pasteur

(3) Av Leeuwenhoek

(1) Amarkantak

(3) Panchmarhi

(1) Hydrogenase

(3) Endonuclease

(1) Berry

(3) Herperidium

79. The formation of gametophyte directly

is called :

(1) Apospory

(3) Heterospory

Robert Koch

Robert [Iooke

(2) The Western Ghat

(a) The Eastern Ghat

(2) Lipase

(4) Ligase

(2) Caryopsis

(4) Capsule

from sporophyte tissue without spore formation

Apogamy

Porogamy

(2)

(4)

78. Fruit in which pericarp is fused with the seed coat is known as :

(2)

(4)

PG-EE-20 22 I (F orensic Sci.)-(SET-Yy(D)

76. The following is the hotspot of biodiversity in India :
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o gave phylogenetic classification of plant ?

(2) Engler and Prantl

(4) Hooker

Sl/\k. R mil \[ ickerm Singhe from the United National Party of Sri Lanka occupied thc

. -:---^1t

-' : :.rnce llinister

GL Mr. Raghuvendra Tanwar was awarded Padma Shri in 2022 in the field of :

(l) Trade & Industry

(3) Science & Engineering

(l) Dehradoon

(3) Gangtok

(l) 7.0 billion

(3) 8.0 billion

PG-E E -20 22 I (B or ensic Sci. )-(SET-YXD)

(2) Prime Minister

(4) All of the above

(2) Sports

(4) Literature & Education

(2) Jamnagar

(4) Shillong

(2) 7 .8 billion

(4) 8.8 billion

WHO Global Centre for Traditional Medicine (WHOGCTM) will be established in

India ?

84. The uS census Bureau has projected the world population to be :

P. T. O.

Linnreus
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85. Pointing to a girl, Vrjay said, "This girl is daughter of only child of my father". What is

the relation of Vijay's wife to that girl ?

(1) Daughter

(3) Mother

(2) Sister

(4) Mother-in-law

86. Find the word which is different from others :

(l) Cap (2) veil (3) Turban (4) Hat

87. The difference between the times taken by two cars to travel a distance of 350 km is

2hr and20 minutes. If the difference between their speed is 5 kmph. find slowcr spccd

in kmph :

(1) 3s (2) 20 (3) 2s (4) 30

takes 6 seconds to pass a flag88. A train covers a distance of 12 km in 10 minutes. If, it

post, then the length of train is :

(l) 120 m (2) r50 m (3) 200 m (4) 250 m

89. A hall is 15 m long and 12 m wide. If the surn of the areas of floor and ceiling is equal

to the sum of the areas of four walls, the volume of the hall is :

(r) 720 (2) eOo (3) 1200 (4) 1800

,^
gl. A sum of money is to distributed among A, B, C andD in the proportion of 5 : 2:4:3.

\,/- If C gets Rs. 1,000 more than D, what is B's share ?

(1) Rs. 500 (2) Rs. 1,500

(3) Rs. 2,000 (4) None of the above

PG-EE-20 22 I (F orensic Sci.)-(SET-Yy(D)
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91. Poikilothermal term is associated with , /
,/

(l) Warrn blooded e'/ (2) External Fertilisation

(3) Tadpole Larva

92. The yellow colour of urine is due to :

(1) Uric acid

(3) Urea

93. Heterocrine is a composite gland and acts as :

(a) Cold blooded

Bite juice

Urochrome

(2)

(4)

94. The cells which are responsible for colour vision in vertebrates are :

(1) Exocrine

(3) Both (1) & (2)

(1) Cone cells

(3) Bipolar cells

95. All are essential fatty acids except :

(l) Stearic acid

(3) Arachidonic acid

96. A dimensionless quantitY :

(1) never has a unit

(3) may have a unit

PG-EE-20 22 I (F or ensic Sci.)-(SET-Yy(D)

(2) Endocrine

(4) None of the above

(2) Red cells

(4) All of the above

(2) Linolenic acid

(4) Linoleic acid

(2) always has a unit

(4) None of the above

P. T. O.
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gZ. A ball of mass rn moves with the speed v and it strikes normally with a wall and

reflected back normally. If its time of contact with walt is r, then find the force exerted

by the ball on the wall :

0#
@T

A man throws the bricks to height of 12 m, where they reach with a speed of 12 m/s. If

he throws the bricks such that they just reach this height, w'hat Toage of enerry he will

have:

(r) te% (2) 38% (3) 76% U

The initial velocity of a particle is u(at, : 0) and the acceleration/is given by. which

of the following relation is valid ?

(2) mvt

(+) 2*u
t

(l) v: a

(3) v = tt +L or'
2

(1) Equal in magnitude

(3) Both (1) & (2)

(2) v:u*at

(4) s=u+at2

(2) Equal in direction

(4) None of the above

4
g/f6rqu. applied on a particle is zero, then its angular momentum u'ill be :

PG-EE-2022/(F orensic Sci.)-(SBT -Y)/(D)
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